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LABOUR WELFARE AND INDUSTRIAL RELATIONS/LABOUR AND
SOCIAL WELFARE/HUMAN RESOURCE MANAGEMENT

PAPER —-1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

Being an HR manager is a challenging task, and requires several proficiencies.
One study found four categories of proficiencies HR proficiencies, business proficiencies
leadership proficiencies and learning proficiencies. HR proficiencies represent traditional
knowledge and skills in areas such as employee selection, training and compensation.
Business proficiencies reflect the new role of HR professionals in creating profitable
enterprise that serve customers effectively. Thus today’s HR managers need to be familiar
with how companies operate, including strategic planning, marketing, production and
finance. They must be able to participate in a management team that formulate plans
for how company will respond to competitive pressures. Today’s HR manager must be
able to “speak the CFO’s language” by measuring and explaining HR activities in terms
managers understand, such as return on investment, payback period, and cost per unit
of service. HR managers also require leadership proficiencies. For example, they need
the ability to work with and lead management groups, and to drive the changes required
for instance, to implement new world-class employee screening and training systems.
Finally because the competitive landscape is changing so quickly and new technologies
are being continually introduced, the HR manager needs learning proficiencies. He or
she must have the ability to stay abreast of and apply all the new technologies and
practices affecting the profession. The fact that top management does understand the
strategic benefits of a well-designed HR program will make the HR manager’s job

somewhat easier.

1.  Which of the following statements are correct ?
(A) Human Resource Management is a challenging task
(B) HR managers require HR and business proficiencies
(C) HR proficiencies represent traditional knowledge and skills

(D) All of the above
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2. The proficiency which reflects the role of HR professionals in maintaining profitability
and customer satisfaction may be termed as :

(A) Leadership proficiency (B) HR proficiency
(C) Business proficiency (D) None of the above
3.  What are the main concerns of a CFO of an organisation ?

(A) Ensuring HR proficiencies in managers

(B) Ensuring technological proficiencies of top management
(C) Ensuring effective return on investment, payback period and cost per unit
(D) All of the above
4.  To cope up with changing competitive landscape and fast obsolescence of technologies,
the HR managers need to acquire :
(A) Freezing Proficiency (B) Refreezing Proficiency
(C) Learning Proficiency (D) None of the above
5. In the author’s view, if the top management is aware of the strategic benefits of a well

designed HR system, it will :
(A) Create unnecessary problems for Head (HR)

(B) Help HR manager in discharging responsibilities
(C) Add undesired and impractical interventions
(D) None of the above
6. Identify the principle of F.W. Taylor’s Scientific Management :
(A) Scalar Chain (B) M.B.O
(C) Functional Foremanship (D) Unity of Command

7. Match the following:
Group A Group B

(a) Managerial Grid (i) Peter F. Drucker
(b) Bureaucracy (ii) Blake & Mouton
(¢ M.B.O (i) George Elton Mayo
(d) Hawthorne Studies (iv) Max Weber

(@ B (o @
(A) @@ @ (@v) (i)
(B) @@ Gv) @ (i)
(€ @) @@ @) @
(D) (v) @) @ ()
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10.

11.

Arrange the following hierarchy of plans in correct sequence :
(A) Objectives, Policies, Strategies, Procedures
(B) Strategies, Objectives, Procedures, Policies
(C) Objectives, Strategies, Policies, Procedures
(

D) Policies, Objectives, Strategies, Procedures

Assertion (A) : Span of control affects the efficient utilization of managers and
effective performance of their subordinates.

Reason (R) : Too wide or too narrow span may mean that subordinates are
under-controlled or over-controlled.

(A) Neither (A) nor (R) is right (B) (A)is right, (R)is wrong
(C) (A) is wrong, (R) is right (D) Both (A) and (R) are right

Match the following :

(a) Interest Tests (i) Recruitment
(b)  Voluntary Retirement (i) Interview rating
(c) Disposition (iii) Separation
(d) Deputation (iv) Selection
(@ @ () @
(A) @ @) (3 (@v)
(B) @@ @ @) (v)
(€ (@v) @) G @
(D) (@v) @) @ (i)

Arrange the following steps of job evaluation process in the correct sequence :

(i) Job description / Specification  (ii) Employee Classification
(i) Job Evaluation Programme (iv) Job Analysis

(A) @ @) (@) (v)

(B) (@v) (@) () ()

(© Gv) (@) @) @

(D) @@ @ @) (v)
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12.

13.

14.

15.

16.

Assertion (A) : Grievance when registered becomes a formal dispute between an
employee and management on the conditions of employment.

Reason (R): Grievance is a formal and a relatively drastic step.
(A) (A) is right, (R) is wrong

(B) (A)is wrong, (R) is right

(C) Both (A) and (R) are right

(D) Both (A) and (R) are wrong

The grievance arising out of legitimate needs of employees remaining unfulfilled may
be termed as :

(A) Disguised Grievance (B) Imaginary Grievance

(C) Factual Grievance (D) Work-Group Grievance
Which of the following is the focus of the Human Resource Development System ?
(A) Individuals and Dyads (B) Collectives and Organization

(C) Both (A) and (B) (D) None of the above

Match the following development dimensions of HRD function :

(a) Job enrichment (i)  Analysing the job

(b) Career development (i) Matching the role and the person

(c) Key performance areas (i) Developing the person in the role

(d) Succession Planning (iv) Developing the role for the person

(@ @® (o (@

(A)  Gv) (D) @) ()

B O (v) @) ()
(© (@v) @) @ 3G
(D) @) () @) @G)

Assertion (A) : Effectiveness of training in no way depends on the synergic relationship
and collaborative working amongst participants, training
organization, trainees and client organization.

Reason (R) : Training is essential because technologies, systems and practices soon
get obsolete due to new discoveries.

(A) (A)is wrong, (R) is right (B) Both (A) and (R) are right

(C) Both (A) and (R) are wrong (D) (A) is right, (R) is wrong

D —-5507 8
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17.

18.

19.

20.

21.

22.

Consider following steps in performance appraisal process and arrange them in proper
sequence :
i)  Comparison of actual performance with performance standards

11

~

Communicate performance expectations

1 Initiate corrective action, if any

—
=
~"

<

\4

~—

Measurement of actual performance
) ({v), (), (v), (i), (), B) @) @) (@i, @), ),
) (@), (), (v), (@), (i), (D) @), (v) (@), () (),

O >

(
(
(
(iv) Establish performance standards
(
(
(

Every evaluator has his/her own value system that acts as a standard against which
appraisals are made. Relative to the true or actual performance an individual exhibits,
some evaluators mark high and others low. Such errors are known as :

(A) Similarity errors (B) Central tendency
(C) Strictness/Leniency error (D) Recency Vs Primacy effect

How many dimensions are there in Blake and Moutoni Managerial Grid ?
(A) Two (B) Three (C) Four (D) Five

Match the following :
Group (A) Group (B)

(a) Douglas M. Mc Gregor (i) Johari Window
(b)  William Ouchi (ii) Force Field Theory
(c) Joseph Lufth and Harry Inghams (iii) Theory ‘X" and “Y’
(d) Kurt Lewin (iv) Theory Z
Code

(@ ((b) (o (@
(A) @) @) (@v) @)
(B) @) @) @ G
© @) @Gv) @ @)
(D) Gv) () @) ()

A person who will initiate change in the organization is called :
(A) Consultant (B) Trainer (C) Change Agent (D) Counsellor

Sequence the following stages of group development :
(A) Forming, Norming, Storming, Performing
B) Forming, Storming, Norming, Performing
Norming, Forming, Storming, Performing

)
D) Storming, Norming, Performing, Forming

D —5507 10



17.

18.

19.

20.

21.

22.
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23.

24.

25.

26.

27.

Which one of the following is not a necessary condition for establishing and maintaining
good industrial relations ?

(A) Keep the employees informed about decision which affect their interests
B) Payment of fair wages and adequate wage structure

) Maintain good relations with nearby industries
D) Establishment of an atmosphere of participation

Match the years of enactment with appropriate Act.

(a) The Trade Union Act (i 1948
(b) The Bombay Industrial Disputes Act  (ii) 1923
(c) The Workmen’s Compensation Act (iii) 1926
(d) The Factories Act (iv) 1938

(@ ® (o (@)

(A) @) (@Gv) G @)

(B) Gv) (@) @ ()
© O G@ @G @)
(D) @) @@ (Gv) (i)

Arrange the following dispute settlement machineries in the order in which they are
Given in the Industrial Disputes Act.

(@) Industrial Tribunal
b) National Tribunal

c¢) Works Committee

d) Labour Court

e) Court of Inquiry

(

(

(

(

(f) Board of Conciliation
(g) Conciliation Office

(

(

(

(

A d @ O (& @ ® (©
B) © (& O (@ (@ @ (b
QO b @© @ @ & @ @
D) (® @ (b © @ @ O

Who defined Industrial Relation as a “Rule Making Process” ?
(A) Robert Hoxie (B)
(C) John T. Dunlop

Selig Perlman
(D) Mc Kersie

The concept of the stewardship of one’s possessions to increase wealth, using one’s
talent and displaying the surplus in public causes was emphasized by :

(A) Conflict Theory of Karl Marx (B) Trusteeship Theory of Mahatma Gandhi
(C) Rational Theory of Robert Hoxie (D) Behavioural Theory of Max Weber

D —5507 12
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(A) & (B) wfer weiEd
(C) S A, s (D) HeRfaT
27. 3ot IRl o1 59 YR ¥ Yeier fob 1ot Ufaem o1 U R eH-Sierd B Seiad e
qen fadiaa Tt w1 o fed § -39 W SR fRes fen w2
(A) e 1 Hod 1 fagia (S o)
(B) eI Tl 1 =t 1 fagia (T forrd)
(C) o Bt 1 foaerera fagia (e fored)
(D) o JeR o1 FeeR Wk fagia (forfaata foed)
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28.

29.

30.

31.

32.

The right to strike and lock-out were recognised in India indirectly under the provision
of :

(A) The Industrial Disputes Act 1947

(B) The British Industrial Trade Dispute Act 1929
(C) The Indian Trade Union Act 1926

(D) None of the above

Match the trade union leaders associated with the trade unions :

(a) Madras Labour Union (i) V.V.Giri
(b) Ahmedabad Textile Labour Association (i) A.R. Ramanujam
(c) All India Railwaymen’s Federation (iii) Mahatma Gandhi
(d) Indian National Trade Union Congress (iv) B.P. Wadia
(@ @ (o @
(A) @) @v) @@ @
(B) @@ @ > (@v)
© O @ @v) ()
(D) Gv) (@) @ (D)

Arrange the events in Indian Trade Unionism in the order in which they have occurred
from earliest to the latest :

(a) Formation of CITU (b) Formation of UTUC
(c) Formation of AITUC (d) Formation of INTUC
(A) © @ ® (@ B (@ b @ (
© @ (© () (&) D) (k) @ (© (@

Assertion (A) : Trade Unions in India are dominated by outside leadership.

Reason (R) : The Unions are politicised and suffer from multiplicity.
(A) (A) is right, (R) is wrong (B) (A) is wrong, (R) is right
(©) (A) is right, (R) is right (D) (A) is wrong, (R) is wrong

Which of the following is not a principle of Labour Legislation ?
(A) Social Justice (B) Social Equity
(C) International Uniformity (D) Human Rights
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28. T SR drcTeial T AHR URA H Ty ¥ 398 § R ey & ST=iid ST ¢
(A) IeEId fewqeq sAfuf=m 1947
(B) Tofew e ve fevge arfuftad 1929
(C) sfema g Ifm sifufm 1926
(D) 99 | FE T
29. TSI Hell kI HOIG Wil o Aqredl % T ¥ faeey
(a) & TR I G) e frd
(b) STRERIEIG JHERA ok THINTTRH (i) TR THESH
() oiia sfean Yaaid hewH (iif)  HRTHT e
) zfeam AvHa ¢ gftEA S (iv) .. afean
(@ (b)) () (@
(A) (D) (v) () ()
(B) @) @ (@) @)
© @ G @Gv) (i)
(D) (v) @) @ @)
30. YR HSIGR WoETE H 59 FeAel o TR ¥ 9 31d B % %hH % 19 fafau
(a) TRIHRM 31T ©f o1 &1 g (b) TRRERM 31 3 3F 3 €t
(c) THIRERN 3% T ST &t g (d) THTERE S oTE T & g W
A) © @ ® (@ B @ ® @ (©
© @ (@© (@ @O D) (®) @ (o) (d)
31. MUY (A) : R H T T H 91 Age HT YA 7 |
HIT (R) : el 1 TSI Bl € AT Seh! AR T |
(A) (A)F& T, (R) Tod © (B) (A) e %, (R) §El §
Q) (A)FHE (R) W © (D) (A) T B, (R) 7Teid ®
32. fr=fafed & @ s g sifufem &1 s fagia = T
(A) HHISR =™ (B)  HrHIfSIeh HHAT
(C) AR TewEdar (D) HHATHHR
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33.

34.

35.

36.

Sequence the following in the order of the year in which they came into being from
earliest to the latest :

(@) The Workmen’s Compensation Act

(b) The Maternity Benefit Act

(c) Establishment of the ILO

(d) The Employees State Insurance Act

@A) © @ @ O B © @ @& ©
© @ @© ® @ D © ® @ @

Match the following :

Group - A Group - B
(a) Comprehensive Social Security (i)  The Factories Act
(b) Post-natal Benefit (i) The Workmen’s Compensation Act
() Welfare Officer (iii) The ESI Act
(d) Theory of Notional Extension (iv) The Maternity Benefit Act
(@ ((b) (o (@
(A) @) @) (@) @)
(B) @) @ 3D @)
(© @) @Gv) @ ()
(D) @) @@  (v) (i)

The doctrine of ‘contributory negligence” and “assumed risks” are associated with which
of the following benefits extended to workers.

(A) Workmen's Compensation (B) Safety under the Factories Act
(C) ESI Benefit (D) All the above

Sequence the following Acts in order of their year of enactment from earliest to latest :

(@) The Equal Remuneration Act

(b) The Trade Union Act

(c) The Payment of Wages Act

(d) The Payment of Bonus Act

(A) (k) (d), (o) (a) B) (), () (@) (o)
© (k) (©, () () D) (©, (B, @) ()



33. TrAfafad &1 Fegsa (9um § sifaq) | safem wifse
(a) oI &fryfd stfufem (f e iaed Tw)
(b) g Gaen stfufem (g Ff/ affee tw)
(c) 3113 TS 31 i LA
(d) fe Semes we sHE T
(A) (@ (d) (a (b) B) (© (@ (d) (b
© (@ (@ (@b (@ D) (@ (b (d) (3

34. frAfafEa s gafed =L :

e -A T - B
(a) Toreqa @IS gean i) T et
(b) SRR gfaem (i) T ki SHuavH W
(c) HeAT HRT (i) TS o oM. TR
(d) ol i Aeea TeeTH (iv) fg A sfafre =
(@ (b)) (© (@
(A) @) (@) (@) (@)
(B) G) (@) (D) ()
Q) @) (@(v) @ ()
(D) @) @)  (v) (i)

35. ANTERE 3UeT (Hifeegedt Aftesg) SR Cwfead Sifem’ (sgre k) wd=nfEr & fad
e frefafea fera ondi @ dog € -
(A) wHH=E & fore afagfd (B) el Uae o idvia gRam
(C) HHTRI T SH1 ad (D) ST |t

36. TrAfafaa sifuframi o1 37k AfufTa & o6 o hH H (T8 98al 9 999 31=1) H d@u
(a) @M wRafr st
(b) T g srfufem (TR)
(c) TSI YTaM etfafam (e i ooy Twe)
(d) I A AfufEE (e SAE 9 TR
A) (), (d), (o, (a) B) (d)., (), (@), (o)
© (), (o) (d), (a) D) (c), (b), (d), (a)
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37. An’Advisory Committee’ to increase employment opportunities for women is required
to be constituted under which of the following Acts ?

(A) The Equal Remuneration Act (B) The Industrial Disputes Act
(C) The Minimum Wages Act (D) None of the above

38. Match the following :

Group - A Group — B
(a) Provision of Controlled Industry (i) The Payment of Wages Act
(b)  Principle of ‘Set on” and ‘Set off’ (ii) The Minimum Wages Act
(c) Recovery of loans (iii) The Industrial Disputes Act
(d) Payment by kind (iv) The Payment of Bonus Act
(@ () (o (@)
(A) @) @ 3D @)
(B) @) @ (v) (i)
(© Gv) (@) @) @
(D) @) @Gv) @ (D)

39. Which of the following statements is not true ?
(A) Conciliation process results into a settlement
(B) Adjudication process results into an award
(C) Court of enquiry results into a report
(D) There is no time limit for submission of the report by the court of enquiry
40. Match the following :

(a) Policing theory (i) Labour welfare work is taken up in a
spirit of atonement

(b) Religious theory (ii) Passing the laws and strictly
implementing them to ascertain that
welfare measures are provided

(c)  Functional theory (iiiy Welfare work is a means of securing,
preserving and increasing efficiency
(d) Placating theory (iv) Workers are becoming conscious of

their rights and welfare work is the best
means of securing their cooperation

(A) @) @@ (@v) (D)
B) @) @@ 3§D ()
© @ (@) (@v) (i)
(D) @) (@v) @) @)
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37. Tr=fafed # #F 9 stfufrem & sraria afeenetl & fog IsFR & sTa agM & fau ' gemeer
[fgfa’ § o79em &t St €2

(A) THA uiRgfew stfufrad (B) it faarg sifufem
(C) A Heigh sAfufm (D) ST | HIE &
38. Tr=Afafad s faem wifsa :
e - A e - B
(a) Trifsra el <1 e () eIl TaE At
(b) ‘e AN ‘He 1w w fagra (i) “IAdH A sifufm
(c) RUT i IR (iii)  siTENfiTe faarg sifufrm
(d) =G H YA (iv) e e sfafm
(@ (b)) () (@
(A) () (@) @) (i)
(B) () (@) (v) (i)
Q) (v) @) (D) ()
(D) () @Gv) @ ()

39. fr=fafed # & @1 weH 9 76 © ¢
(A) Yere ot yfshan st afiforfa frgem & g 7

(B) =arafofe ufshan st uftfurfa sifufofar (srare) & &t €1

(C) Sira = ot aRkforfa gfdees (Raid) & &t 2

(D) Sir= = gRI Uidees 99T &t q9 Wi e S

40. Tr=fafed fHeam wifse .

(a) OifafeT = fagia (i) 99 HA K1 K GrAFTEd hi a1 9 R
g

(b) wfies fagia (i) T oia & qen e & & fag fw
I fou e & Uil o1 foraraam o
YEM I

(c) YA fagid (iii) 99 FHearr w1 31 § HE HICT yTa
T, G A1 a1 39H gfg HE|

(d) vERH (wikfen) foagid (iv) GfHeRI 1 319 YRR T FHeA &R F
G ST BT 3TE HeaRT U 1 Fer 3751
IR qXfera wed T

(@ B (©© @
O G0 G
1v

i)

.2. N
~—
o~~~
-
~
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41.

42,

43.

44.

45.

Assertion (A) : Labour welfare policies change with time and space and therefore it
is called as a relative concept.

Reason (R) : Level of economic development, social policies governing welfare issues
at different times make an impact on the capability and interest of
countries to provide labour welfare provisions.

(A) Both (A) and (R) are right (B) Both (A) and (R) are wrong

(C) (A) is right, (R) is wrong (D) (A) is wrong, (R) is right

Who gave the concepts of ‘social invasion of work place” and ‘long arm of job” in labour
welfare ?

(A) Herbert Spencer (B) Emile Durkhien

(C) Charles Spaulding (D) Max Weber

At least one labour welfare officer must be appointed in a factory wherein
or more workers are ordinarily employed.

(A) 50 (B) 100 (C) 300 (D) 500

Who is called as the father of Labour Welfare Movement ?
(A) Frederick Herzberg (B) Robert Owen

(C) FE.W. Taylor (D) Charles Babbage

Assertion (A) : A person is unemployed only when he/she is both without a job and
also desires to be employed.

Reason (R) : The idea of desire to be employed need not be interpreted in relation
to normal hours of work for day, current rates of wages and a person’s
normal state of health.

(A) Both (A) and (R) are right (B) Both (A) and (R) are wrong

(C) (A)isright, (R) is wrong (D) (A)is wrong, (R) is right

D —5507 20



41.

42.

43.

44.

45.

ARTRT (A) : 9 oA Hifqal THF iR TH & fede | aga e € TafaT 39 e

Heheal ed B

HIT (R) : anifelen forenrd, e sl faifsa sharedt wmfsen fafaar qen stem-stem
g W fafs gei 1 afirenl &t ewar SR <9 S 99 FHearor & qaHH &
gfq e g STetar § 1

(A) (A) 3R (R) I w2t & (B) (A) 3R (R) I TTera §

Q) (A) T T (R) T4 § (D) (A) o § (R) 9&t ©

Iq HIO H hE o T W GHATSTR-3TRAN (FHA-37dsH) AR i 3 Sia’ ki
HehouaT foreH <12

(A) T T (B) THIA =@

(C) =Ted wifeeT (D) Hed IR

fora therdt o 9 9 1 gfoeh THIG: M Hd © | SHH Tk 9 e i
=t Fgfer 2 =nfe

(A) 50 (B) 100 (C) 300 (D) 500

Y T TSI 1 STk DI HEA & ?
(A) el Bster (B) e 3iEd
(C) TH T, < (D) =" Jast

afireRem (A) : TRt =afe 61 M W o S © Afe g fom A % @ iR ag- A |
T =TT/t

T (R) : IHHT AR T i 5231 hl a7 o T e o T qRATHE ht AT &3
3iR gfteh & T &t 59 & He H e 7@ e =fe |

(A) (A) 3R (R) I T2 & (B) (A) 3R (R) I TTera &
(C) (A) T& T (R) T § (D) (A) o § (R) 9&t ©
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46.

47.

48.

49.

50.

Match the following :

Theory of wage Contributor
(a) Bargaining theory (i) J. Stacy Adams
(b) Demand and Supply theory (i) A.C Pigou
(c) Purchasing Power theory (i) John Davidson
(d) Equity theory (iv) Alfred Marshall
(@ ® (o @
(A) @) @v) @@ @
(B) Gv) (@) @) (D)
© @@ @ @) (@v)
(D) @) @) (@v) @)

A wage period shall not exceed :
(A) Forty days (B) One month
(C) One week (D) Thirty five days

Under the payment of wages Act, 1936 no fine can be recovered after the expiry of
days from the day on which it was imposed.

(A) 15 days (B) 30 days (C) 60 days (D) 90 days

Wage Board is a
(A) Bipartite body (B) Tripartite body
(C) Both (A) and (B) (D) None of the above

Which of the following is not a method of Job Analysis ?
(A) Critical Incident Approach (B) Job Elements Approach
(C) Position Analysis Questionnaire (D) Application Blank

-00o0-
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46.

47.

48.

49.

50.

frrferfan 91 Tfem # :

TSIgt &7 fagia FITGTT et
(a) Tia-9E o fagia (AEET o) (1) . w2l oTem
(b) T eTfd bt fagra () . i
(c) whaIfd o THgid (iii) S Sfaewq
(d) g1 =1 fagid (iv) The e
(@ B (© @
(A) () @v) @) @
B) @(v) @) @ (i)
© @@ @ @) (i)
(D) () @) @v) @
TSIl ot Aty sEd fye el S =nfe
(A) =i fe (B) Tk HEMI
(C) TH H«E (D) Hdtw fe
TSI o YA & SAfUfaH, 1936 % ST=ITd @ 8H 7 9 g% 21 & T a&k o
AT e e S |
(A) 15 fem (B) 30 fed (C) 60 fea (D) 90 fe
TSIl o 30 | F T ?
(A) drEIRiEE dret (B) grTefEE aret
(©) I (A) ¥R (B) (D) o8 & B T

Frfafed 5 § @ o fafa sr fagemo =it fafu 767 ¢

(A) Torfera <y 1o (B) e Ufered 19
(C) UIfSRM TIfafes Ferearer (D) ST=ARYA =ik
-00o0-
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